IF AN ITEM IS NOTED AS "NOT FIELD REPAIRABLE", OR YOU WISH TO RETURN AN ITEM TO | Chg | Date
® TECANTCAL SERVICE PARTS AKRON BRASS FOR SERVICE PLEASE GO ONLINE TO, ONLINEREPAIR.AKRONBRASS.COM 515
AKRON stvie 8600, 7900,8900
BRASS COMPANY IPRODUCT 2-4" S/0 VALVES
2.0" - 3.5" SWING OUT VALVES AND
4.0" SWING OUT VALVE STYLE 8840
25:1 & 16:1 GEAR RATIO) o 104 (97) 101)
4x(87) ® >
4
@ i s £
83 Z
[~ =° =.
AN =ﬂ
SEE DETAIL A
\/,
\E [2] « Lo @

ASSEMBLY NOTES: X

USE PARKER-O-LUBE ON ALL O-RINGS AND \

ALL MATING SURFACES. -

GEAR RATI
/1\ USE PERMABOND LM113 OR LOCTITE 222 XX: 1 VALVE SIZE
A USE LOW-TEMP LUBRIPLATE . 16:1 2"-3.5" SWING OUT
A USE PRIMER T AND PERMABOND HH120 OR LOCTITE 277 251 4" SWING OUT VALVE
STYLE 8840

A USE PERMABOND LHO50 OR LOCTITE 592
@ TORQUE TO 50 FT-LBS
@ SEE TABLE FOR STAMPING OF HOUSING.

TRUNNION SHOWN IS FOR 2 -3.5" ACTUATOR.
OIL DIP.

USE LOCTITE 290

SECURE WITH PERMABOND 200.

USE TOOL BT-11462

FILL GEARBOX WITH GREASE.
ASSEMBLE MAGNET SO THAT IT IS FLUSH WITH TOP OF TRUNNION.

DETAIL A
CALIBRATE THE UNIT AFTER ASSEMBLY. SCALE 0.875

bbbl

PHONE: 800.228.1161 | www.akronbrass.com

WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years™ after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products

have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products.
© 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.

Parts List Sheet:

123292

D46595



n n Chg. Date
TECHN | CAL SERV | CE PARTS [F AN ITEM IS NOTED AS "NOT FIELD REPAIRABLE", OR YOU WISH TO RETURN AN ITEM TO T 31

AKRON BRASS FOR SERVICE PLEASE GO ONLINE TO, ONLINEREPAIR.AKRONBRASS.COM 7 01-25

AKRON stvie 8600, 7900,8900

BRASS COMPANY |PRODUCT 2-4" S/0 VALVES

4"-5" JAMESBURY
(25:1 GEAR RATIO)

SEE DETAIL C

ASSEMBLY NOTES:

USE PARKER-O-LUBE ON ALL O-RINGS AND
GEAEXF:{?T'O VALVE SIZE
ALL MATING SURFACES.
25:1 475" AMESBURY

A USE PERMABOND LM113 OR LOCTITE 222

A USE LOW-TEMP LUBRIPLATE .

& USE PRIMER T AND PERMABOND HH120 OR LOCTITE 277
A USE PERMABOND LHO50 OR LOCTITE 592

A TORQUE TO 50 FT-LBS

& SEE TABLE FOR STAMPING OF HOUSING.

TRUNNION SHOWN IS FOR 2 -3.5" ACTUATOR.

OIL DIP.

USE LOCTITE 290

SECURE WITH PERMABOND 200.

USE TOOL BT-11462

FILL GEARBOX WITH GREASE. H ©
ASSEMBLE MAGNET SO THAT IT IS FLUSH WITH TOP OF TRUNNION.

DETAIL C
CALIBRATE THE UNIT AFTER ASSEMBLY. SCALE 0.750

2l

PHONE: 800.228.1161 | www.akronbrass.com Parts List Sheet:

WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years™ after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or | 2 3 2 9 2
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE

DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products

have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products. D46595
© 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.




n n Chg. Date
TECHN | CAL SERV | CE PARTS [F AN ITEM IS NOTED AS "NOT FIELD REPAIRABLE", OR YOU WISH TO RETURN AN ITEM TO T 31

AKRON BRASS FOR SERVICE PLEASE GO ONLINE TO, ONLINEREPAIR.AKRONBRASS.COM 7 01-25

AKRON stvie 8600, 7900,8900

BRASS COMPANY |PRODUCT 2-4" S/0 VALVES

4" - 6" BUTTERFLY VALVE
64:1 GEAR RATIO

4.0" SWING OUT VALVE STYLE 8940

RN )
/‘Ilri,‘?ﬁ/!{l/[/

YN

ASSEMBLY NOTES: 8X-BTFLY ACTUATOR
4X-4" S/O VALVE ACTUATOR

USE PARKER-O-LUBE ON ALL O-RINGS AND

ALL MATING SURFACES.

/1\. USE PERVMABOND LM113 OR LOCTITE 222 GEAQXF_{?T'O VALVE SIZE
/2\ USE LOW-TEMP LUBRIPLATE . 641 4-6" ABZ BUTTERFLY
' VALVE
/3\. USE PRIMER T AND PERMABOND HH120 OR LOCTITE 277
64:1 4" SO VALVE

A USE PERMABOND LHO50 OR LOCTITE 592
@ TORQUE TO 50 FT-LBS

@ SEE TABLE FOR STAMPING OF HOUSING.

@ TRUNNION SHOWN IS FOR 2 -3.5" ACTUATOR.

A OIL DIP. @ @

& USE LOCTITE 290

ﬁ SECURE WITH PERMABOND 200.
ﬁ USE TOOL BT-11462

A2\ FILL GEARBOX WITH GREASE. @
/3. ASSEMBLE MAGNET SO THAT IT IS FLUSH WITH TOP OF TRUNNION.

DETAIL B
A% CALIBRATE THE UNIT AFTER ASSEMBLY. SCALE 0.875

PHONE: 800.228.1161 | www.akronbrass.com Parts List Sheet:

WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years™ after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or | 2 3 2 9 2
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE

DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products

have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products. D46595
© 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.




TECHNICAL SERVICE PARTS IF AN ITEM IS NOTED AS "NOT FIELD REPAIRABLE", OR YOU WISH TO RETURN AN ITEM TO 8- Bate,
® AKRON BRASS FOR SERVICE PLEASE GO ONLINE TO, ONLINEREPAIR.AKRONBRASS.COM |7 01-25
AKRON stiie 8600,7300,8900
BRASS COMPANY PRODUCT 2-4" S/0 VALVES QUANTITY FOR | AT Y R A s
16:1 GEAR RATIO | <> :
FIND NO: DESCRIPTION ITEM NO: ACTUATOR ACTUATOR, ACTUATOR,
QUANTITY FOR | QUANTITY FOR 62%&%&;?5{0 2047 SWINGOUT | 4" DISCHARGE 476" ABZ
FIND NO: DESCRIPTION ITEM NO: | 1671 GEAR RATIO 125:1 GEAR RATIO 'ACTUATOR 475" JAMESBURY | BUTTERFLY
ACTUATOR, ACTUATOR, .o ' 100 | RIVET SHORT 754052 4~ 3~ 8#
2".3.5" SWINGOUT| 4"-5" JAMESBURY |4'-0" ABZ BUTTERFLY,
4" SJO VALVE 101 | MOTOR S/A 12V 86255006 1 i 1
1 SPACER 770395 1 1 101 | MOTOR S/A 24V 86255007 1 : 1
2 NUT 3/4 - 16 x27/64 734116 1 1 1 101 MOTOR S/A 12V 86255008 - 1
3 |WASHER 784231 1 1 1 101 | MOTOR S/A 24V 86255009 i 1
10 | TRUNNION * 1 1 1 102 | GEAR HOUSING 109296 1 ]
12 |O-RING 2-214 757010 1 102 |GEAR HOUSING 118161 i 1
12 |O-RING 2-222 757006 1 102 | GEAR HOUSING 120268 : : 1
50 | SPRING BELLEVILLE 769276 4 4 103 | MOTOR FACE PLATE 745100 1 1 1
61 | SOCKET HEAD CAP SCREW 3/8-16 x 3/4! 765160 4 4 104 | SCREW 6-32 X 1/2 765052 8~ ~ 8" 8##
63 | WASHER 784111 4 4 4 105 | SCREW 10-24 X 1/2 763038 4 4 4
64 | BRACKET MOUNT 703541 1 i 119 | WASHER 3/8 X .188 X .04 784123 4 4 4
64 | ADPT BTFLY 116281 i i 1 120 | MAGNET * 1 1 1
65  |HEX BOLT 7/16-14 x 1-1/4" 761024 4r+
66 | LOCK WASHER 784116 i 4% GEAR ASSEMBLY 16:1 KIT 86252501 ~—
68 | BEARING NEEDLE 703453 2 2 2 GEAR ASSEMBLY 16:1 KIT W/ACCS 86252502 i
77 | THRUST WASHER 784103 1 i GEAR ASSEMBLY 25:1 KIT 86252503 i A
78 | WORM GEAR 784190 1 1 i i GEAR ASSEMBLY 25:1 KIT W/ACCS 86252504
78 | WORM GEAR 784190 i 1 : GEAR ASSEMBLY 64:1 KIT 86252505 i i i
79 | GREASE FITTING 713034 1 1 3 GEAR ASSEMBLY 64:1 KIT W/ACCS 86252506
80  |GROOVE PIN 741058 i i 1
80  |ROLLPIN 744068 1 1 " SEE TABLE 2
81 ACTUATOR HOUSING 51717 ] ** FOR 4""- 6" ABZ BUTTERFLY VALVE ONLY
a1 ACTUATOR HOUSING 51716 ] ] +;I— FOR 4" SWINGOUT VALVE ACTUATOR ONLY
INCLUDED IN GEAR ASSEMBLY 25:1 KIT
82 |SHAFT 769510 1 1 1 ~* INCLUDED IN GEAR ASSEMBLY 25:1 KIT W/ACCS
83 |MOTOR DRIVER 128423 1 1 1 ~ INCLUDED IN GEAR ASSEMBLY 16:1 KIT
84  |SECTOR GEAR 123261 1 1> ~ ~ INCLUDED IN GEAR ASSEMBLY 16:1 KIT W/ACCS
84 SECTOR GEAR 126667 1 # INCLUDED IN GEAR ASSEMBLY 64:1 KIT
85 SET SCREW 765117 1~ - 1# ## INCLUDED IN GEAR ASSEMBLY 64:1 KIT W/ACCS
85 | SET SCREW 765082 i 1~ i
86 | WASHER THRUST 784104 1 1 1
87  |SCREW 8-32 X 1/2 765155 4 4 4
88  |SCREW 1/4-20 x 5/8 765029 i 4
88  |SCREW 10-24 x 5/8 765028 4
88  |SCREW 1/4-20 X 3/4 765030 g**
88  |SCREW 1/4-20 X 3/4 765030 i 4+ +
80  |O-RING 2-012 757282 i 1 1
90 O-RING 2-039 757263 1~~ 1% 1## TABLE: 2 GEAR RAT!O VALVE SIZE
91 RETAINING RING 758172 1~ ~ 144 1## FIND NO:10 XX:1
92 | OUTPUT CARRIER PLATE 742118 : 1" TRUNNION SIZE OF QTY 16:1 >1.3 51 SWING OUT
VALVE : :
92 | PLATE CARRIER 742121 1~ i 1# ITEM NO.* :
93 |RIVET LONG 754051 4~ 31 a# 86255075 T : 25:1 450 AMESEURY
94 | CARRIER PLATE 718346 i 1~ i - e
94 | PLATE CARRIER SHORT 718345 1~ : 2# 86305074 >0 ! 64:1 O sneour
95 | GEAR PLANET 18 TOOTH 718341 i 6™ i 89405009 4.0" 1
95 | GEAR PLANET 16 TOOTH 718339 8 ~ 12# 4.0"
96 | O-RING 2-035 757280 1~ ~ 144 144 79405010 | jamESBURY ]
97  |O-RING 2-029 757056 1~ ~ 1A 144 79405504 4" ABZ 1
99  |GEAR MOTOR 718343 1~ i 1# 79505504 | 5" & 6" ABZ ]
99  |GEAR MOTOR 718344 i 1~

PHONE: 800.228.1161 | www.akronbrass.com

WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years™ after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products
have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products.

© 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.

Parts List Sheet:

123292

D46595




	Sheet 9
	Views
	new_view_38
	A


	Sheet 10
	Views
	new_view_40
	C


	Sheet 11
	Views
	new_view_8
	B
	new_view_42


	Sheet 12

